Wiscat-Pabo hoofdrekenen, herhaling blad 1

Schrijf het antwoord uit je hoofd op.

1) 3x73=

4) 1,25x48 =

7y 7000:0,07 =

10) 11x12—-60=

13) 14x2i=

16) 4800:36 =

19) 14:21=

22) 2o0pde9 =.........

25) 98 x14=

28) 7vande8=.........
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2)

5)

8)

11)

14)

17)

20)

23)

26)

29)

S

Sl

29x6=

132 -5x12

7200 : 36 =

20 % 3,75 =

36 m/uur =

2% van 15 =

49 x 46 =

3% van 200 =

3 1

6) 7

9 0

12)

15)

18)

21)

24)

27)

30)

x 38 =

,5% van 14 =

3,7 miljoen : 3700 =

20 km/uur =...... m/uur

3,6 miljard : 2,4 miljoen =

%% van 8 =

60 miljoen : 12000 =



